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English

Which of the following sentences uses a subjunctive mood correctly?

If I was you, | would study harder. | wish | were taller. He said he is coming. She walks to
school every day.

Answer: | wish | were taller.

Choose the sentence with correct use of a semicolon.

| have a big test tomorrow; | can't go out tonight. She likes to read, write; and draw. He ran
fast; and won the race. It's raining; but | will go anyway.

Answer: | have a big test tomorrow; | can't go out tonight.

Identify the type of irony in the statement: "The fire station burned down."
Verbal Irony Situational Irony Dramatic Irony Cosmic Irony
Answer: Situational Irony

Which word is most nearly opposite in meaning to 'profligate'?
Frugal Wasteful Liberal Decadent
Answer: Frugal

What is the meaning of the idiom 'to throw in the towel'?
To clean up To give up To get angry To relax
Answer: To give up

Choose the sentence with correct subject-verb agreement.

Neither of the answers are correct. The data is convincing. Each of the players were tired.
The committee has made its decision.

Answer: The committee has made its decision.

In literature, what is a 'foil' character?

A minor character who has little impact A character who contrasts with another A deceptive
character A protagonist's sidekick

Answer: A character who contrasts with another

Which sentence demonstrates correct parallel structure?

She likes dancing, to swim, and bikes. He enjoys reading, writing, and to paint. They were
singing, dancing, and laughing. To run, jogging, and swim are fun.

Answer: They were singing, dancing, and laughing.

Which of the following is a complex sentence?
She ran fast and won the race. After the movie ended, we went home. He likes apples and
oranges. The sun set.
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Answer: After the movie ended, we went home.

What is the function of a gerund in a sentence?
To act as an adjective To show tense To function as a noun To link clauses
Answer: To function as a noun

Which of these is an example of a synecdoche?
All hands on deck. She’s a tiger on the field. The leaves danced in the wind. Time flew by.
Answer: All hands on deck.

Which sentence contains an adjective clause?
The car that she bought was expensive. He went to the store. They arrived early. She sings
beautifully.

Answer: The car that she bought was expensive.

Choose the correct definition of 'anachronism’.
A sudden realization A character flaw An out-of-place time element A symbolic image
Answer: An out-of-place time element

What is the passive voice form of 'She writes a letter'?
A letter writes she. She has written a letter. A letter is written by her. A letter was writing.
Answer: A letter is written by her.

Which of the following is a compound-complex sentence?

He cooked dinner. She smiled, and he waved. Although it rained, we played, and we got wet.
The game ended.

Answer: Although it rained, we played, and we got wet.

Which literary device is used in “The wind whispered through the trees”?
Simile Personification Metaphor Hyperbole
Answer: Personification

What is the function of an appositive phrase?
Modifies a verb Acts as a conjunction Explains or renames a noun Connects two clauses
Answer: Explains or renames a noun

Which of these words is a synonym for 'abstruse'?
Clear Simple Obscure Direct
Answer: Obscure

Which sentence contains a dangling modifier?
Running down the street, the bus was missed. She ran and fell. He opened the door. The



20.

21.

22.

23.

24,

25.

26.

27.

28.

story was exciting.
Answer: Running down the street, the bus was missed.

Which sentence uses a colon correctly?

| bought: apples, oranges, and bananas. There are two options: stay or leave. He: wants to go.

Bring: your book tomorrow.

Answer: There are two options: stay or leave.

Which is a correct example of an oxymoron?

Silent scream Angry storm Bright moon Happy face
Answer: Silent scream

Which form is the past perfect tense of 'go'?
Goes Went Gone Had gone
Answer: Had gone

Which sentence uses an infinitive correctly?

He to swim wants. He wants swimming. He wants to swim. He swim wants to.
Answer: He wants to swim.

What type of pronoun is '‘themselves' in the sentence 'They enjoyed themselves'?
Demonstrative Reflexive Relative Indefinite

Answer: Reflexive

What does 'ephemeral' most nearly mean?
Eternal Joyful Fleeting Complex

Answer: Fleeting

Which sentence is an example of antithesis?

It was the best of times, it was the worst of times. She sells seashells. The stars winked.

roared like a lion.
Answer: It was the best of times, it was the worst of times.

What is the main function of a transitional phrase in writing?
Add humor Show contrast or connection Quote a source Describe characters
Answer: Show contrast or connection

Which of the following is an example of metonymy?
The White House issued a statement. He’s as brave as a lion. Life is a rollercoaster.

stars danced.

Answer: The White House issued a statement.

He
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Which sentence uses 'affect’ correctly?

The movie had a strong affect on me. He showed no affect. The storm will affect travel.
She had a calming affect.

Answer: The storm will affect travel.

What part of speech is the word 'quickly' in the sentence 'She ran quickly'?
Noun Verb Adjective Adverb
Answer: Adverb

Which sentence uses parallelism correctly?

He likes hiking, swimming, and to ride. She enjoys reading, drawing, and painting. They ran,
jog, and are walking. To sing, dance, and laughter.

Answer: She enjoys reading, drawing, and painting.

Which sentence uses 'who' correctly?

The man who | met was nice. The woman whom called is my friend. The students who study
pass. He, who I love, is gone.

Answer: The students who study pass.

What is the meaning of the idiom 'barking up the wrong tree'?
To be correct To misplace something To pursue a false lead To succeed quickly
Answer: To pursue a false lead

Which sentence contains a misplaced modifier?

He nearly drove for six hours a day. Nearly he drove for six hours a day. He drove nearly six
hours a day. He drove carefully each day.

Answer: He nearly drove for six hours a day.

Which is an example of a cumulative sentence?

| went to the store. We sat down, tired and hungry from the long hike. Go! Although it
rained, we went out.

Answer: We sat down, tired and hungry from the long hike.

What is the meaning of the root “chron”?
Time Light Sound Color
Answer: Time

Which sentence correctly uses the subjunctive mood?
If I was late, I'd be sorry. If | were rich, | would travel. If he is here, tell him. If she was
home, she’d call.
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Answer: If | were rich, | would travel.

Which of the following is a non-restrictive clause?

The boy who won is my brother. The red car belongs to my neighbor. My sister, who lives in
Paris, is visiting. Dogs that bark are noisy.

Answer: My sister, who lives in Paris, is visiting.

. Which literary term describes the struggle between opposing forces?

Setting Theme Conflict Tone
Answer: Conflict

Which of these is an example of euphemism?
Passed away Screamed Died Collapsed
Answer: Passed away

What'’s the correct plural form of ‘criterion'?
Criterions Criterium Criteria Criterias
Answer: Criteria

Choose the correct indirect speech: He said, "I will go."
He said that he will go. He said that he would go. He says he would go. He told he will go.
Answer: He said that he would go.

Which word is spelled correctly?
Accomodate Definately Occasionally Recieve
Answer: Occasionally

Which is a characteristic of a Shakespearean sonnet?
Three quatrains and a couplet Two stanzas Free verse No rhyme
Answer: Three quatrains and a couplet

Which is an example of alliteration?
Silly snakes slither silently. Time flies. The storm screamed. He roared with anger.
Answer: Silly snakes slither silently.

Which sentence has an error in pronoun-antecedent agreement?

Everyone should bring their book. Each student brought his book. Somebody left her umbrella.
None of them completed their task.

Answer: Everyone should bring their book.

Which of the following is a compound sentence?
Although it rained, we played. We danced and sang. The sun set, and the moon rose. If he
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comes, we will leave.
Answer: The sun set, and the moon rose.

Which verb form completes the sentence: “If he earlier, he would have caught the train”?
Arrived Had arrived Has arrived Would arrive
Answer: Had arrived

What does ‘benevolent’ mean?
Hostile Generous Confused Angry
Answer: Generous

Which sentence uses a noun clause?
He asked what time it was. He left early. We ran fast. The phone rang.
Answer: He asked what time it was.

Which part of speech is ‘however’ in: “However, he left early.”?
Verb Conjunction Adverb Preposition
Answer: Adverb

Which is an example of assonance?
The light of the fire is a sight. Bright night light. Hard hearts. Fast feast.
Answer: The light of the fire is a sight.

Which sentence contains litotes?
She is not unfamiliar with trouble. He screamed loudly. It was extremely hot. She laughed
joyfully.

Answer: She is not unfamiliar with trouble.

What is the purpose of a thesis statement in an essay?
To provide a summary To state the main argument To ask a question To list sources
Answer: To state the main argument

Which word is a homophone?
Lead Wind Bare Close
Answer: Bare

What is the plural of 'analysis'?
Analysises Analysii Analyses Analysis
Answer: Analyses

Which word best completes the analogy: Speak : Whisper :: Run : ?
Talk Sprint Stroll Drive
Answer: Stroll
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What kind of clause is underlined in “I believe that she is honest”?
Relative clause Adverbial clause Noun clause Prepositional phrase
Answer: Noun clause

Which is a compound-complex sentence?
He ran and jumped. Although he was tired, he kept working, and he finished on time. He ran.
He ran and he jumped.

Answer: Although he was tired, he kept working, and he finished on time.

Which term refers to a brief reference to a well-known person or event?
Allusion Allegory Apostrophe Irony
Answer: Allusion

Which sentence uses the correct conditional form?

If he studies, he would pass. If he studied, he will pass. If he had studied, he would have
passed. If he studies, he would have passed.

Answer: If he had studied, he would have passed.

What is the correct comparative form of the word 'far'?
Farer Farest More far Farther
Answer: Farther

Which literary term describes a sudden realization or insight?
Allegory Euphemism Epiphany Metonymy
Answer: Epiphany

Which of the following uses a restrictive clause?

My brother, who is a doctor, lives in Boston. The book, which | borrowed, was exciting.
Students who study succeed. The city, which is large, is noisy.

Answer: Students who study succeed.

What figure of speech is used in 'He’s a rock in tough times'?
Simile Hyperbole Metaphor Irony
Answer: Metaphor

Which sentence uses 'lay' correctly?

He lay the book on the table yesterday. | will lay down now. He lays on the couch all day.
She laid on the bed and napped.

Answer: He lay the book on the table yesterday.

What does the prefix 'inter-' mean?
Above Between Inside Without
Answer: Between

Which sentence contains an example of ambiguity?

| saw the man with the telescope. She was tired and hungry. He is a good student. They
went to the beach.

Answer: | saw the man with the telescope.



69. What is the tone of the sentence: 'Sure, | just love waiting in traffic for hours'?
Joyful Sincere Sarcastic Neutral
Answer: Sarcastic

70. Which of the following best defines 'juxtaposition'?
An extreme exaggeration Placing two things side by side for contrast A pleasant sound
Repetition of consonant sounds
Answer: Placing two things side by side for contrast
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Which of the following was a major reason for the failure of the Revolt of 18577?

a) Lack of unity among Indian rulers b) Superior British military strategy c) Support from
foreign powers d) Limited participation of peasants

Answer: a) Lack of unity among Indian rulers

Who was the first Governor-General of independent India?
a) Lord Mountbatten b) Jawaharlal Nehru c) Rajendra Prasad d) C. Rajagopalachari
Answer: d) C. Rajagopalachari

Which of the following is a feature of the Indian federal system?

a) Single citizenship b) Unitary bias c) Division of powers between central and state
governments d) Single judiciary

Answer: c) Division of powers between central and state governments

Which sector contributes the highest to India's GDP?
a) Primary b) Secondary c) Tertiary d) Quaternary
Answer: c) Tertiary

The 'Green Revolution' in India aimed at increasing the production of:
a) Industrial goods b) Agricultural products c) Forest resources d) Mineral resources
Answer: b) Agricultural products

Which of the following is a non-renewable resource?

a) Solar energy b) Wind energy c) Coal d) Biomass
Answer: c) Coal

The 'Right to Information Act' was enacted in India in:

a) 2000 b) 2005 c) 2010 d) 2015

Answer: b) 2005

Which of the following is a feature of a democratic government?
a) One-party rule b) Regular elections c¢) Military control d) Censorship of media
Answer: b) Regular elections

The term 'GDP' stands for:

a) Gross Domestic Product b) General Domestic Product c) Gross Development Product
d) General Development Product

Answer: a) Gross Domestic Product

Which of the following is a characteristic of the 'National Income' of a country?
a) It includes only the income of citizens. b) It excludes income from foreign investments.
c) It is the total value of all goods and services produced. d) It is calculated annually.
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Answer: c) It is the total value of all goods and services produced.

Which of the following was a consequence of the Treaty of Versailles (1919)?

Germany was rewarded Germany was divided Germany was heavily penalized Germany
joined the League of Nations

Answer: Germany was heavily penalized

The idea of ‘Swaraj’ in Gandhian philosophy primarily means:
Complete independence Violent revolution Economic prosperity British collaboration
Answer: Complete independence

Which soil is best suited for cotton cultivation in India?
Laterite Black Alluvial Red
Answer: Black

Which dam is built on the River Sutlej?
Tehri Bhakra Nangal Hirakud Sardar Sarovar
Answer: Bhakra Nangal

Which of the following countries is not a member of the G-207?
India China Pakistan Germany
Answer: Pakistan

Which Article of the Indian Constitution guarantees the Right to Equality?
Article 14 Article 19 Article 21 Article 32
Answer: Article 14

Who among the following was associated with the ‘Poona Pact’?
Mahatma Gandhi Subhas Chandra Bose Dr. B.R. Ambedkar Jawaharlal Nehru
Answer: Dr. B.R. Ambedkar

Which of the following is an example of organized sector employment?
Agricultural laborer Construction site helper Bank employee Rickshaw puller
Answer: Bank employee

What is the main reason for water scarcity in urban areas?
Rural migration Excessive rainfall Over-extraction and mismanagement Low demand

Answer: Over-extraction and mismanagement

What does 'consumer awareness' mean in economics?

Price rise Buying more goods Understanding consumer rights and duties Discount hunting

Answer: Understanding consumer rights and duties

Who was the leader of the movement for the unification of Italy?
a) Giuseppe Mazzini b) Otto von Bismarck c) Count Cavour d) Garibaldi
Answer: d) Garibaldi



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Which among the following countries did not have a colonial presence in Indo-China?
a) France b) Britain c) Spain d) None of the above
Answer: c¢) Spain

Who was the founder of the Indian National Congress?
a) Mahatma Gandhi b) Jawaharlal Nehru c) A.O. Hume d) Bal Gangadhar Tilak
Answer: ¢) A.O. Hume

The term "Globalisation" refers to:

a) The process of creating a global government b) The process of increasing interconnectedness of
the world's economies c) The process of spreading a particular culture around the world d) The
process of establishing world peace

Answer: b) The process of increasing interconnectedness of the world's economies

Which industry was the first to be established in India during the British rule?
a) Textile b) Iron and steel c) Jute d) Sugar
Answer: a) Textile

The painting "Les Demoiselles d'Avignon" was created by:
a) Vincent Van Gogh b) Pablo Picasso c¢) Claude Monet d) Paul Cézanne
Answer: b) Pablo Picasso

The first printed book in Europe was:
a) The Bible b) The Canterbury Tales c¢) The Divine Comedy d) The Prince
Answer: a) The Bible

The novel "Robinson Crusoe" was written by:
a) Charles Dickens b) Jane Austen c) Daniel Defoe d) George Eliot
Answer: c) Daniel Defoe

Which of the following is a non-renewable resource?
a) Solar energy b) Wind energy c) Coal d) Tidal energy
Answer: c) Coal

Which of the following is a biodegradable waste?
a) Plastic b) Glass c) Paper d) Metal
Answer: c) Paper

Who among the following was associated with the slogan “Inquilab Zindabad”?
A. Subhas Chandra Bose B. Bhagat Singh C. Jawaharlal Nehru D. Lala Lajpat Rai
Answer: B. Bhagat Singh

The idea of India becoming a modern nation-state was propagated by:
A. Mahatma Gandhi B. Jawaharlal Nehru C. Subhas Chandra Bose D. Raja Ram Mohan Roy
Answer: B. Jawaharlal Nehru
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The first war of independence is also known as:
A. Sepoy Mutiny of 1857 B. First World War C. Revolt of 1857 D. Rebellion of 1857
Answer: C. Revolt of 1857

Which of the following factors contributed the most to the growth of nationalism in India?
A. Industrialisation B. The emergence of Indian leaders C. British policies of economic
exploitation D. The advent of Western education

Answer: C. British policies of economic exploitation

The idea of a ‘Homeland for Jews’ in Palestine was proposed by:
A. Herzl B. Gandhi C. Nehru D. Bismarck

Answer: A. Herzl

The first major event in the Indian national movement was:

A. Non-Cooperation Movement B. Quit India Movement C. Revolt of 1857 D. Champaran

Satyagraha
Answer: C. Revolt of 1857

Who founded the 'Indian National Congress' in 1885?
A. A.0. Hume B. Bal Gangadhar Tilak C. Lala Lajpat Rai D. Subhas Chandra Bose
Answer: A. A.O. Hume

The 'Non-Cooperation Movement' was launched in:
A. 1920 B. 1919 C. 1915 D. 1930
Answer: A. 1920

The first Nationalist literature published in India was called:
A. Al-Hilal B. Ghadar Journal C. Young India D. The Hindu
Answer: A. Al-Hilal

Who wrote the famous book ‘The History of the Indian Rebellion’?
A.R.C. Dutt B. Lala Lajpat Rai C. V.D. Savarkar D. Jawaharlal Nehru
Answer: C. V.D. Savarkar

Which soil is most suitable for cotton cultivation?
A. Red soil B. Black soil C. Alluvial soil D. Laterite soil
Answer: B. Black soil

The largest producer of tea in India is:
A. Assam B. Kerala C. West Bengal D. Tamil Nadu
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Answer: A. Assam

The 'Chipko Movement' started in which state?
A. Himachal Pradesh B. Uttar Pradesh C. Bihar D. Uttarakhand
Answer: D. Uttarakhand

Which of the following is not a characteristic of the 'Green Revolution'?

A. Increased use of chemical fertilizers B. Improved irrigation techniques C. Use of genetically
modified seeds D. Increase in food production

Answer: C. Use of genetically modified seeds

The term ‘Bharat Mata’ was popularised during the:

A. First War of Independence B. Non-Cooperation Movement C. Indian Renaissance D.
Swadeshi Movement

Answer: D. Swadeshi Movement

India’s largest reserve of coal is found in:
A. Chhattisgarh B. Madhya Pradesh C. Jharkhand D. Odisha
Answer: C. Jharkhand

Which of the following is not a factor affecting the location of industries?

A. Raw materials availability B. Market proximity C. Labour availability D. Personal choice of
entrepreneur

Answer: D. Personal choice of entrepreneur

The largest producer of iron ore in India is:
A. Chhattisgarh B. Karnataka C. Odisha D. Jharkhand
Answer: C. Odisha

The 'Narmada Valley Project' is an example of:
A. Irrigation project B. Hydroelectric project C. Industrial zone D. Urbanisation project
Answer: B. Hydroelectric project

India’s largest oil refinery is located in:
A. Gujarat B. Maharashtra C. Tamil Nadu D. Rajasthan
Answer: A. Gujarat

Which of the following is a feature of the federal system of government in India?

A. Centralisation of power B. Division of powers between central and state governments
C. Unitary state model D. Unicameral legislature

Answer: B. Division of powers between central and state governments
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The 'Kashmir dispute' involves a conflict between:

A. India and Pakistan B. India and China C. India and Nepal D. India and Bangladesh
Answer: A. India and Pakistan

Who is responsible for upholding the Constitution of India?

A. Parliament B. President of India C. Judiciary D. Prime Minister

Answer: C. Judiciary

Which of the following is an example of vertical power sharing in India?

A. Between central and state governments B. Among political parties C. Between the
legislature and judiciary D. Between rural and urban areas

Answer: A. Between central and state governments

In India, the President is elected through:

A. Direct election by the people B. Indirect election by the Parliament C. Selection by the Prime
Minister D. Appointment by the ruling party

Answer: B. Indirect election by the Parliament

The principle of 'One person, one vote' is associated with:
A. Universal Adult Franchise B. Federalism C. Separation of powers D. Judicial review
Answer: A. Universal Adult Franchise

The term 'democratic deficit' refers to:

A. Weak democracy B. Centralisation of power in a democracy C. Lack of political awareness
among citizens D. Absence of regular elections

Answer: B. Centralisation of power in a democracy

Who among the following is not a member of the Union Executive in India?
A. Prime Minister B. President C. Speaker of the Lok Sabha D. Vice-President
Answer: C. Speaker of the Lok Sabha

Which of the following is not a characteristic of a democracy?

A. Free and fair elections B. Equal representation of minorities C. Control over the economy by
the government D. Respect for fundamental rights

Answer: C. Control over the economy by the government

The power-sharing arrangement between the central and state governments is mentioned in:

A. The Preamble of the Constitution B. The Directive Principles of State Policy C. The Seventh
Schedule of the Constitution D. The Fundamental Rights

Answer: C. The Seventh Schedule of the Constitution
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Which of the following is a major objective of the New Economic Policy (1991)?

A. Promotion of socialism B. Liberalisation of the economy C. Nationalisation of industries
D. Protectionist trade policies

Answer: B. Liberalisation of the economy

The GDP (Gross Domestic Product) of a country refers to:

A. The total market value of all goods and services produced within the country in a given period
B. The total income earned by citizens of a country

C. The total amount of government expenditure

D. The total value of exports

Answer: A. The total market value of all goods and services produced within the country in a given
period

. What is the main difference between economic development and economic growth?

A. Economic growth involves increased income, while development includes social and environmental
factors

B. Economic growth is a broader concept than economic development

C. Economic development focuses on the production of goods only

D. Economic development includes a reduction in poverty, while growth does not

Answer: A. Economic growth involves increased income, while development includes social and
environmental factors

Which country was the first to introduce the concept of the welfare state?
A. United States B. Sweden C. Germany D. France
Answer: B. Sweden

'Globalisation' leads to:

A. More restrictions on international trade B. Economic and cultural integration across the world
C. A decline in trade agreements D. Protectionism in international markets

Answer: B. Economic and cultural integration across the world

The human development index (HDI) is published by:
A. IMF B. UNDP C. World Bank D. WTO
Answer: B. UNDP

The primary sector of the economy includes:

A. Manufacturing and processing B. Retail and wholesale trade C. Agriculture, mining, and
fishing D. Information technology services

Answer: C. Agriculture, mining, and fishing
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The Green Revolution in India started in the:
A. 1950s B. 1960s C. 1970s

Answer: B. 1960s

D. 1980s

In the context of Indian agriculture, which of the following is an example of a cash crop?
A. Wheat B. Rice C. Cotton

Answer: C. Cotton

D. Barley

Which of the following was a major outcome of the 1991 economic reforms in India?

A. Increased import tariffs

B. Nationalisation of banks

Expansion of private sector participation

Answer: D. Expansion of private sector participation

C. Reduction in foreign investment

The term ‘socialist pattern of society’ was used in the Constitution of India in:

A. The Preamble B. The Fundamental Rights section

D. The Ninth Schedule
Answer: A. The Preamble

The Dandi March was led by:

A. Subhas Chandra Bose B. Jawaharlal Nehru

Answer: C. Mahatma Gandhi

C. The Directive Principles of State Policy

C. Mahatma Gandhi D. Lal Bahadur Shastri

The French Revolution of 1789 is considered important in the history of democracy because it:

A. Led to the overthrow of the monarchy and the establishment of a republic

B. Established the first constitution in Europe

C. Promoted the idea of absolute monarchy

D. Introduced the rule of the bourgeoisie

Answer: A. Led to the overthrow of the monarchy and the establishment of a republic

The 'Swadeshi Movement' was started in response to the:

A. Partition of Bengal B. Jallianwala Bagh massacre

Answer: A. Partition of Bengal

The idea of a 'welfare state' was introduced in India by:
A. Jawaharlal Nehru B. Mahatma Gandhi C. B.R. Ambedkar

Answer: A. Jawaharlal Nehru

The Industrial Revolution first began in:

A. France B. Germany
Answer: C. Britain

C. Britain

D. United States

C. Rowlatt Act D. Simon Commission

D. Sardar Vallabhbhai Patel

D.



Science:

The unit of resistance is:
A. Ampere B. Ohm C. Volt D. Watt
Answer: B. Ohm

The equivalent resistance of two resistors of 5 Q and 10 Q connected in series is:
A.15Q B.5Q c.10Q D.0.5Q
Answer: A. 15Q

Which of the following is not a scalar quantity?
A. Mass B. Time C. Displacement D. Speed
Answer: C. Displacement

The formula to calculate the work done in moving a charge in an electric field is:
A W=Fxd BW=VxIxt C.W=Fxdxcos8 D.W=QxV
Answer: D. W=QxV

The focal length of a concave mirror is negative. What does it imply?

A. The mirror forms a real image only B. The mirror forms a virtual image only C. The mirror
forms an image both real and virtual D. The mirror is not functioning properly

Answer: B. The mirror forms a virtual image only

The image formed by a convex lens when an object is placed at 2F is:

A. Virtual, erect, and diminished B. Real, inverted, and diminished C. Real, inverted, and same
size D. Real, inverted, and magnified

Answer: C. Real, inverted, and same size

The electric field is strongest at:

A. The center of a charge distribution B. A point far away from the charge C. A point close to
the charge D. None of the above

Answer: C. A point close to the charge

In a transverse wave, particles of the medium vibrate:

A. In the direction of wave motion B. Perpendicular to the direction of wave motion C.lna
circular motion D. In no specific direction

Answer: B. Perpendicular to the direction of wave motion

The energy of a photon depends on its:
A. Speed B. Wavelength C. Amplitude D. Frequency
Answer: D. Frequency
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The Sl unit of magnetic flux is:
A. Weber B. Tesla C. Ampere D. Volt
Answer: A. Weber

The pH value of a neutral solution is:
A.7 B.0O C.14 D.5
Answer: A. 7

Which of the following compounds is formed when an acid reacts with a base?

A. Salt and water B. Salt and hydrogen gas C. Water and carbon dioxide D. Hydrogen and
carbon dioxide

Answer: A. Salt and water

Which element is the most abundant in the Earth's crust?
A. Oxygen B. Silicon C. Aluminium D. Iron
Answer: A. Oxygen

Which of the following is a chemical change?
A. Melting of ice B. Dissolving sugar in water C. Burning of wood D. Boiling of water
Answer: C. Burning of wood

What happens when an electric current is passed through water?

A. Water turns into oxygen and hydrogen gas B. Water boils and evaporates C. Water turns
into acids and bases D. No reaction occurs

Answer: A. Water turns into oxygen and hydrogen gas

The reaction of an acid with a metal to form hydrogen gas is an example of:

A. Decomposition reaction B. Redox reaction C. Displacement reaction D. Combination
reaction

Answer: C. Displacement reaction

What is the oxidation state of chlorine in NaClO3?
A +1 B.-1 C.+3 D. 45
Answer: C. +5

In the periodic table, elements in the same group have:

A. Similar atomic sizes B. Similar number of protons C. Similar chemical properties D.
Similar atomic masses

Answer: C. Similar chemical properties
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Which of the following is a product of the reaction between sodium hydroxide and hydrochloric acid?
A. Sodium chloride and water B. Sodium bicarbonate and water C. Sodium chloride and carbon
dioxide D. Sodium hydroxide and hydrogen chloride

Answer: A. Sodium chloride and water

Which of the following compounds is most likely to be ionic?
A. H20 B. CO2 C. Nacl D. 02
Answer: C. NaCl

The human heart has how many chambers?
A. Two B. Three C. Four D. Five
Answer: C. Four

Which of the following is a function of red blood cells?

A. Clotting of blood B. Transport of oxygen C. Defense against infections D. Production of
hormones

Answer: B. Transport of oxygen

The process by which green plants prepare their food is called:
A. Digestion B. Respiration C. Photosynthesis D. Transpiration
Answer: C. Photosynthesis

Which of the following is an example of a parasitic plant?
A. Rose B. Sunflower C. Mistletoe D. Lily
Answer: C. Mistletoe

In human beings, the exchange of gases takes place in:
A. Bronchi B. Lungs C. Trachea D. Alveoli
Answer: D. Alveoli

The process by which plants lose water through their leaves is known as:
A. Photosynthesis B. Transpiration C. Germination D. Respiration
Answer: B. Transpiration

The DNA structure is:
A. Double-stranded helix B. Single-stranded helix C. Triple-stranded helix D. A double ring
Answer: A. Double-stranded helix

The main function of the white blood cells is:
A. Oxygen transport B. Blood clotting C. Fighting infections D. Digestion of food
Answer: C. Fighting infections
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Which part of the plant conducts photosynthesis?
A. Roots B. Stem C. Leaves D. Flowers
Answer: C. Leaves

In which part of the human body is bile stored?
A. Liver B. Stomach C. Pancreas D. Gallbladder
Answer: D. Gallbladder

The enzyme present in saliva that breaks down starch is:
A. Pepsin B. Amylase C. Lipase D. Trypsin
Answer: B. Amylase

The function of the kidney is:

A. Pumping blood through the body B. Producing insulin C. Filtering blood and forming urine
D. Storing bile

Answer: C. Filtering blood and forming urine

The part of the brain responsible for balance and coordination is:
A. Cerebrum B. Medulla Oblongata C. Cerebellum D. Pons
Answer: C. Cerebellum

The pigment responsible for the green color in plants is:
A. Chlorophyll B. Carotene C. Xanthophyll D. Anthocyanin
Answer: A. Chlorophyll

The amount of air that remains in the lungs after maximum exhalation is called:
A. Tidal volume B. Vital capacity C. Residual volume D. Expiratory volume
Answer: C. Residual volume

The largest organ in the human body is:
A. Heart B. Skin C. Liver D. Brain
Answer: B. Skin

The male reproductive organ in humans is:
A. Ovary B. Uterus C. Testis D. Penis
Answer: C. Testis

The process of formation of gametes is called:
A. Mitosis B. Meiosis C. Fertilization D. Budding
Answer: B. Meiosis
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The chemical formula for glucose is:
B. C2H50H C.CH4 D. H20
Answer: A. C6H1206

A. C6H1206

The water absorbed by plants through roots is transported to the leaves through:

A. Phloem B. Xylem

Answer: B. Xylem

The Sl unit of power is:
A. Watt B. Joule C. Ampere
Answer: A. Watt

C. Epidermis D. Chloroplast

D. Volt

What is the boiling point of water in Celsius?

A.100°C B.0°C C. 373K D.

Answer: A. 100°C

32°F

Which of the following is a physical change?

A. Rusting of iron

Answer: C. Melting of ice

B. Burning of wood

Which of the following has the greatest energy?

A. Red light

B. Violet light C. Green light

Answer: B. Violet light

C. Melting of ice

D. Yellow light

Which of the following is an example of a non-renewable resource?
C. Coal D. Tidal energy

A. Solar energy
Answer: C. Coal

B. Wind energy

The first law of motion was proposed by:
A. Albert Einstein B. Isaac Newton
Answer: B. Isaac Newton

C. Galileo Galilei

D. James Clerk Maxwell

The process by which plants make their own food is known as:

A. Respiration

B. Transpiration

Answer: C. Photosynthesis

C. Photosynthesis

Which element is used in thermometers?

A. Mercury

B. Lead C. Zinc

Answer: A. Mercury

D. Copper

Which law explains the motion of planets around the sun?

A. Newton's Second Law

Law

Answer: B. Kepler’s Laws of Planetary Motion

The process of fusion of male and female gametes is called:

A. Fertilization

B. Germination

C. Reproduction

D. Germination

B. Kepler’s Laws of Planetary Motion C. Boyle's Law

D. Pollination

D. Decomposition of food

D. Hooke’s
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Answer: A. Fertilization

The refractive index of a medium is given by:

A. Speed of light in vacuum / Speed of light in the medium

B. Speed of light in the medium / Speed of light in vacuum

C. Wavelength of light in vacuum / Wavelength of light in the medium
D. None of the above

Answer: A. Speed of light in vacuum / Speed of light in the medium

A bullet is fired vertically upwards. At the highest point of its flight, its velocity is:
A. Zero and acceleration is zero B. Zero and acceleration is constant

C. Maximum and acceleration iszero  D. Zero and acceleration is 9.8 m/s?
Answer: D. Zero and acceleration is 9.8 m/s?

The energy of an electron in a hydrogen atom is given by:
A.E=-13.6/n*eV B.E=13.6/n’eV C.E=13.6n%eV D.E=-13.6 n%?eV
Answer: A. E =-13.6/n% eV

The magnetic field produced by a current-carrying conductor is:

A. Radial and non-uniform B. Circular and uniform C. Circular and non-uniform
D. Linear and uniform

Answer: C. Circular and non-uniform

The potential energy of an object is maximum at:

A. The lowest point of the swing B. The midpoint of the swing
C. The highest point of the swing D. When it is at rest
Answer: C. The highest point of the swing

The critical angle for light traveling from glass (refractive index = 1.5) to air is:
A. 30° B. 45° C. 60° D. 42°
Answer: D. 42°

The work done in displacing a charge from one point to another in an electric field is called:
A. Electric potential energy B. Electric field intensity
C. Electric current D. Electric power

Answer: A. Electric potential energy

A particle moves in a circular path with constant speed. The direction of its velocity vector is:
A. Constant B. Radial C. Tangential to the circular path

D. Perpendicular to the plane of motion

Answer: C. Tangential to the circular path
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A 100W electric bulb is connected to a 220V power supply. The current passing through the bulb is:

A.1.1A B.0.45 A C.44A D.2.2A
Answer: A. 1.1 A

If the resistance of a conductor is doubled, the power dissipated in it will become:
A. Half B. Double C. Quadruple D. One-fourth
Answer: A. Half

The oxidation state of sulfur in H,SO, is:
A. +6 B. +4 C.-2 D. +2
Answer: A. +6

Which of the following is an example of an amphoteric oxide?
A. Na,O B. A|203 C. MgO D. CaO
Answer: B. Al,O3

The process of converting a liquid into a gas below its boiling point is known as:
A. Sublimation B. Evaporation C. Condensation D. Fusion
Answer: B. Evaporation

Which of the following compounds does not show isomerism?
A. Butane B. Pentane C. Hexane D. Methane
Answer: D. Methane

Which of the following is not a property of acids?
A. They have a sour taste B. They turn blue litmus paper red
C. They react with metals to form salts and hydrogen gas D. They have a slippery feel

Answer: D. They have a slippery feel

The oxidation of hydrogen to form water is an example of:

A. Redox reaction B. Combustion reaction C. Displacement reaction
D. Combination reaction

Answer: A. Redox reaction

The gas produced when zinc reacts with hydrochloric acid is:
A. Oxygen B. Nitrogen C. Carbon dioxide D. Hydrogen
Answer: D. Hydrogen

The element that does not exhibit allotropy is:
A. Carbon B. Oxygen C. Phosphorus D. Sulfur
Answer: B. Oxygen



Logical Reasoning:

1. What comes next in the sequence?
2,6,12,20,30,°7
A. 36 B. 40 C.42 D. 44
Answer: C

2.In a certain code, TREE is written as USFF. How is LEAF written?
A. MFBG B. MDFG C. MDAG D. MDFH
Answer: B
3. Which number replaces the question mark?
3,5,9,17,33,?
A. 65 B. 49 C.57 D. 59
Answer: D

4. Choose the odd one out:
ACE, BDF, GHI, KLM
A. ACE B. BDF C. GHI D. KLM
Answer: A

5. Which word doesn’t belong to the group?
Apple, Banana, Mango, Carrot
A. Apple B. Mango C. Carrot D. Banana
Answer: C

6.If ‘CAT’ is coded as 24 and ‘DOG’ is coded as 26, what is the code for ‘RAT’?
A.37 B. 35 C.36 D. 38
Answer: B
7. Which number will complete the series?
1,4,9,16,25,7
A.30 B. 35 C.36 D. 34
Answer: C
8. Which is the mirror image of 3677
A.763 B. E36 C. &9 D. None
Answer: D
9. Which letter is two places to the right of the letter that is three places to the left of ‘M’?
Al B. K C.L D.N
Answer: C
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If MONKEY is coded as 576893, then how is MONEY coded?
A. 57693 B. 57893 C. 57963 D. 57863
Answer: A

Pointing to a girl, Raj said, “She is the daughter of my grandfather’s only son.” How is the girl related to
Raj?

A. Sister B. Cousin C. Niece D. Aunt

Answer: A

Which number logically follows the series:
121, 144, 169, 196, ?

A. 225 B. 216 C. 200 D. 210
Answer: A

If LION is coded as 1234, and NOIL as 4321, how is LOIN coded?
A. 1324 B. 1432 C. 1243 D. 1342
Answer: C

A clock is showing 3:15. What is the angle between the hands?
A.0° B.7.5° C.225° D. 30°
Answer: C

Which number is missing?
9,18,36,72, 7,288

A. 108 B. 120 C. 144 D. 96
Answer: C

Which pair is dissimilar?
A. Red — Rose B. Blue — Sky C. Green — Grass D. Yellow — Banana
Answer: B

In a certain code, HOUSE is written as IPVTF. How is BRAIN written?
A. CSBJO B. ASBJO C. CSBIP D. CRBJO
Answer: A

Find the odd one out:

2,6,12, 20, 30,40

A.6 B.12 C.20 D. 40
Answer: D
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In a family of five members, A is the brother of B. B is the sister of C. C is the mother of D. How is A

related to D?
A. Uncle B. Brother C. Grandfather D. Father
Answer: A

How many squares are there in a 4x4 grid?
A. 16 B. 30 C. 40 D. 50
Answer: D

What is the missing term in the series?
AB, CD, EF, ?, 1

A.GH B. Gl C.FG D. HI
Answer: A

If ALL = 39, then BALL="?
A. 41 B. 43 C. 44 D. 45
Answer: B

If2+3=13,3+4=25,then4+5="
A. 37 B. 35 C.39 D. 36
Answer: A

Which number is missing?
4,5,9,14,23,7

A.33 B. 34 C.36 D. 37
Answer: A

How many triangles are there in a star?
A.8 B. 10 C. 12 D.6
Answer: C

Which word does not fit:

Dog, Cat, Cow, Tiger, Car

A. Cat B. Cow C. Tiger D. Car
Answer: D

A is taller than B. B is taller than C. C is shorter than D. Who is tallest?

A A B.D C.B D. Can’t say
Answer: D
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Which number is a perfect cube?
A. 216 B. 125 C. 343 D. All
Answer: D

Choose the odd term:

AB, CD, EF, GH, HJ

A. AB B. EF C.HJ D. GH
Answer: C

If in a certain language, BREAK is written as 79513, then BEAR is?
A. 7951 B. 7591 C. 7915 D. 7593
Answer: B

Which direction is opposite to South-East?
A. North-East B. North-West C. South-West D. West
Answer: B

Find the missing term:
3,8,15,24,?

A.33 B. 35 C.36 D. 37
Answer: C

How many letters are there between D and P?
A 11 B.12 C.13 D. 14

Answer: A

Find the next term:

Z,X,V,T7?

A.Q B.S C.R D.P

Answer: B

If5x3=40,and6x2=48,then7x1="?

A. 56 B. 49 C. 45 D.51

Answer: A

If DELHI is coded as 73541, and CALCUTTA is 82589668, then what is the code for HIDE?
A. 4137 B. 4357 C. 4317 D. 4135

Answer: A

If the day before yesterday was Tuesday, what will be the day after tomorrow?

A. Saturday B. Friday C. Sunday D. Monday




Answer: A

38. Find the odd one out:
Square, Rectangle, Triangle, Cube
A. Square B. Rectangle C. Cube D. Triangle
Answer: C

39. In a certain code, STUDENT is written as TUVFGPV. How is SCHOOL written?
A. TIDPPM B. TDIPPM C. THIPPN D. TIDOPM
Answer: B

40. If3> 15,4 > 24,5 > 35,then6 > ?
A. 47 B. 36 C.48 D. 46
Answer: A

41. A man walks 5 km North, then turns right and walks 3 km, then turns right and walks 5 km. Where is
he now from the starting point?
A. 3 km West B. 3 km East C. 5 km North D. Back to start
Answer: B

42. IfA=1,Z=26,then AZ="
A.126 B. 27 C.1x26 D. Both Aand C
Answer: D

43. Which pair is like the pair 'Book : Author'?
A. Song : Singer B. Pen : Writer C. Poem : Poet D. House : Mason
Answer: C

44. Find the missing number:
6,11, 21,36,?
A. 56 B. 50 C. 60 D. 66
Answer: C

45. Which term fits the pattern?
AZ, BY, CX, ?
A.DU B. DW C.EV D.Dz
Answer: B

46. Which is the odd one out?
Lion, Tiger, Leopard, Deer
A. Lion B. Tiger C. Leopard D. Deer
Answer: D

47. If ‘Fun’ is coded as 639, and ‘Run’ as 839, then ‘Sun’ is?
A. 839 B. 939 C.739 D. 349
Answer: C
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What comes next in this letter sequence?
A CFJO0,?

A.Q B.S C.u D.V

Answer: C

Which of the following does not belong to the group?
Earth, Mars, Moon, Venus

A. Earth B. Moon C. Mars D. Venus
Answer: B

If the opposite of MORE is LESS, then the opposite of HARD is?
A. ROUGH B. EASY C. SIMPLE D. SMOOTH
Answer: B

What comes next in the series?

7,14, 28, 56, ?

A. 84 B.112 C.98 D. 106
Answer: B

In a code, TABLE is written as GZOVI. How is CHAIR written?
A. XSLNV B. XSLOV C. XSLMV D. YSMOV
Answer: A

Which number completes the series?
81,27,9,3,7

A.2 B.0O C.1 D.4
Answer: C

Find the odd one out:

5, 10, 20, 40, 70, 80

A. 10 B. 40 C.70 D. 80
Answer: C

If3x3=18,4x4=32,5x5=50,then6x6="
A .72 B.70 C.68 D.74
Answer: A

IfA=1,B=2,C=3.., whatis the value of the word “FACE”?
A. 13 B.17 C.18 D. 20
Answer: C

A clock gains 2 minutes every hour. How many minutes will it gain in 1 day?
A .24 B. 48 C.36 D. 30
Answer: B

Which shape does not belong?
Triangle, Square, Circle, Hexagon
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A. Triangle B. Square C. Circle D. Hexagon
Answer: C

Which number will replace the question mark?
4,9,19,39,?

A. 49 B. 69 C.79 D.59

Answer: C

Find the missing number:
2,6,12,20,7,42

A. 25 B. 30 C.28 D. 32
Answer: C

Which word doesn’t belong in the group?

Circle, Sphere, Cube, Square

A. Cube B. Sphere C. Circle D. Square
Answer: A

What comes next in the sequence?
1,4,10,22,46,7

A. 96 B. 84 C.94 D. 90
Answer: C

If8+4=48,and6+5=55,then7+3="7
A. 30 B. 37 C.42 D. 49
Answer: B

Choose the odd one:

January, March, May, June

A. March B. May C.June D. January
Answer: C

What is the missing number in the pattern?
13, 16, 21, 28, ?, 46

A. 35 B.34 C.36 D. 38
Answer: B

In a row of students, A is 9th from the left and B is 7th from the right. If there are 20 students, how

many are between A and B?
A.5 B.4 C.6 D.3
Answer: A

Which figure is next in the sequence: Square, Triangle, Circle, Square, Triangle, ?

A. Circle B. Square C. Triangle D. Rectangle
Answer: A

If2->5,3->10,4 > 17,then5->7?
A. 26 B. 25 C. 27 D. 28
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Answer: A

Find the odd one out:

Foot, Hand, Finger, Palm

A. Finger B. Hand C. Palm D. Foot
Answer: D

IfZ=1,Y=2,X=3, ..., then what is the value of CAT?
A.57 B. 54 C.58 D. 60
Answer: B




Logical Reasoning:

What comes next in the series: 3, 9, 27, 81, ?
A) 162 B) 243 C) 324 D) 108
Answer: B) 243

If TABLE is coded as UDCMF, how is CHAIR coded?
A) DIBJS B) DBIJS C) DBHIJS D) DBIHR
Answer: B) DBIJS

Find the odd one out: Apple, Orange, Banana, Carrot
A) Apple B) Orange C) Banana D) Carrot
Answer: D) Carrot

Which number will complete the series? 2, 6, 12, 20, ?
A) 28 B) 30 C) 32 D) 36
Answer: A) 28

Pointing to a girl, Rohan said, “She is the daughter of the only son of my father” How is the girl related
to Rohan?

A) Daughter B) Niece C) Cousin D) Sister

Answer: A) Daughter

Choose the correct mirror image of the word: STEP
A) PSET B) PETS C) 135d D) None of these
Answer: C) 135d

Which number replaces the question mark?
4x3+2=14

5x4+1=21

6x5+0="

A)30 B)25 ()26 D)31
Answer: C) 30

In a code language, if CAT = XZG, then DOG =?
A)WLT  B)WLF  C)WLG  D)WKH
Answer: C) WLG

Complete the analogy: Book : Pages :: Dictionary : ?
A) Words B) Grammar C) Binding D) Index
Answer: A) Words
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Find the missing number:

6 3 2
4 5 7
A)7 B)2 C6 D)4
Answer: C) 6

Which diagram best represents the relationship: Birds, Pigeons, Animals

A) Circle inside a circle B) Three separate circles C) One circle intersecting two
circles inside one

Answer: D) Two circles inside one

f1+1=2,2+2=6,3+3=12,whatis4+4="7?
A)20 B)24 C)18 D)16
Answer: A) 20

Which figure comes next in the pattern? O O O @ ?
A) O B) O c) OO D) None
Answer: A) O

Choose the word that doesn't belong:
Boat, Ship, Car, Yacht

A) Boat B) Car C) Yacht D) Ship
Answer: B) Car

A'is the brother of B. B is the sister of C. Cis the son of D. How is A related to D?
A) Son B) Nephew C) Grandson D) Cannot be determined
Answer: A) Son

If "123" means "l love India", and "345" means "India is great", then what does "3" mean?

A)l B) India C) Love D) Great
Answer: B) India

D) Two

How many triangles are there in a pentagon when all diagonals are drawn from one vertex?

A)3 B)5 ()6 D)10
Answer: B) 5

Choose the number which is different from others:
81, 64, 49, 35, 25

A) 81 B) 49 C) 35 D) 64

Answer: C) 35
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Select the related word: Hand : Glove :: Foot : ?
A) Shoe B) Sock C) Slipper D) Sandal
Answer: B) Sock

3,6,11,18,?
A)27 B)28 C)29  D)30
Answer: B) 28

Find the missing number:

11x11=121

12x12 =144

13x13="

A) 169 B) 156 C) 178 D) 168
Answer: A) 169

Complete the analogy: Pen : Write :: Knife : ?
A) Peel B) Cut C) Sharpen D) Break
Answer: B) Cut

If each vowel is replaced with the next letter, what is the new word for HOUSE?
A)HPVTF  B)IPVTF  C)HPVTF D) IPVSE
Answer: A) HPVTF

Find the odd one out:

January, March, June, July

A) January B) March C) June D) July
Answer: C) June

Which number fits?

5+2=28

6+3=39

7+4=7

A) 52 B) 45 C) 49 D) 55
Answer: A) 52

In a certain code, ROAD = URDG. How is DUST coded?
A)XWVW  B)XWVU  C)XWVT D) XVWT
Answer: B) XWVU

If MONKEY = XLMRVB, then DONKEY = ?
A) WLMSVB B) WLMRVB C) XLMRVB D) XLMSTC
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Answer: B) WLMRVB

In a row of boys, Ram is 9th from the left and 13th from the right. How many boys are there?

A)20 B)21 C)22 D)23
Answer: B) 21

() () « 7 ¢« () ()

If ‘4’ means ‘%, ‘x’ means ‘—, ‘=" means ‘+’, ‘" means ‘+’, then 8 x4 +2="7?

A)30 B)28 ()14 D)10
Answer: D) 10

In a certain code, FLOWER is written as RMEWOL. How is GARDEN written?

A) NEDRAG B) NEDARG C) NAGDER D) RAGDEN
Answer: A) NEDRAG

What comes next in the sequence? 2, 5, 10, 17, 26, ?
A) 35 B) 37 C) 39 D) 41
Answer: B) 37

Choose the odd one: Square, Triangle, Rectangle, Cube
A) Square B) Triangle C) Rectangle D) Cube
Answer: D) Cube

If in a certain code, LIGHT = OHJLW, how is DARK coded?
A)GDUO  B)GDUN  C)GDTN D) GCUO
Answer: A) GDUO

Which number replaces the question mark?
7x2+3=17

5x3+4=19

6x4+5="7

A)29 B)26 ()27 D)28
Answer: A) 29

Find the missing term in the series: 1, 4, 9, 16, ?, 36
A)20 B)25 C)28  D)30
Answer: B) 25

Which direction is opposite to South-West?
A) North-West B) North-East C) South-East D) West
Answer: B) North-East
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If CLOCK = DMPDL, what is TIME?
AJUINF  B)UIND  C)UIME  D)TIME
Answer: A) UINF

Choose the word that cannot be formed from “INFORMATION”
A)FORM  B)NATION  C)TRAIN D) MOTION
Answer: C) TRAIN

If it is Tuesday on 1st March, what day is it on 31st March of the same year?
A) Thursday B) Friday C) Saturday D) Sunday
Answer: A) Thursday

Choose the correct number to complete the analogy:
3:27::5:7

A)120 B)125 C)100 D) 105

Answer: B) 125

Which is the odd one out: Circle, Sphere, Square, Triangle
A) Circle B) Sphere C) Square D) Triangle
Answer: B) Sphere

If LION is coded as 12415, how is TIGER coded?
A) 2097518 B) 209518 C) 209517 D) 209718
Answer: B) 209518

Statement: All cats are dogs. All dogs are animals. Conclusion: All cats are animals.
A) True B) False C) Cannot say D) Only if dogs are cats
Answer: A) True

How many rectangles are there in a 3x2 grid?
A) 12 B) 18 09 D) 21
Answer: B) 18

Which word is different from the rest?

Butter, Cream, Curd, Oil

A) Butter B) Cream C) Qil D) Curd
Answer: C) Oil

In a certain language, ‘STAR’ is written as ‘TUBS’. How is ‘MIOON’ written?
A)NPPQ  B)NPPO  C)NPPN D) NOON
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Answer: A) NPPQ

What comes next? AZ, BY, CX, ?
A)DW  B)DU C)DV  D)EZ
Answer: A) DW

If NECK = 1234 and BACK = 5634, then BEAN = ?
A) 5213 B)5231  (C)5312  D)5123
Answer: D) 5123

Complete the series: 121, 144, 169, 196, ?

A) 225 B) 216 C) 210 D) 256
Answer: A) 225

Ramu is 10 years older than Shyam. After 5 years, Ramu will be twice as old as Shyam. What is Ramu’s

current age?
A) 30 B) 25 C) 20 D) 35
Answer: A) 30

If the word MONDAY is written as NQODCZ, then how will FRIDAY be written?
A) GSKCBZ B) GSKECZ C) GSKCBY D) GSICBZ
Answer: A) GSKCBZ

Which number does not belong?
2,3,5911,13

A)3 B)5 c)9 D) 13
Answer: C) 9

IfA=1,B=2,...,7Z=26,then the sum of the letters in the word "LOGIC" is:
A)52 B) 50 C) 49 D) 53
Answer: B) 50

Find the next term in the pattern: 5, 10, 17, 26, ?
A) 37 B) 36 C) 38 D) 39
Answer: A) 37

In a code, GARDEN = IBTFGP, then PLANTS = ?
A)RNCPVU  B)RMCPVR  C)RNDPVU D) RMDPVT
Answer: A) RNCPVU

Which one of the following is different from the others?
Pen, Pencil, Eraser, Sharpener, Chalk
A) Pen B) Pencil C) Chalk D) Eraser
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Answer: C) Chalk

Ramesh walks 10m North, then turns right and walks 10m, then again right and walks 10m. Where is
he from the starting point?

A) 10m East B) 10m West C) 10m North D) Same place

Answer: A) 10m East

Choose the correct mirror image:

Word: ROOM

A) WOOR B) MOOR C) AOOM D) MOOA
Answer: D) MOOA

Which number completes the series?
1,4,10, 22,46, 7

A)94  B)8 ()92 D) 90
Answer: A) 94

Find the missing number:

100, 96, 91, 85, ?

A) 78 B) 76 C) 80 D) 79
Answer: A) 78

In a code, BRAIN = EQDLQ, what is MIND?
A) PLPG B) PLQG C) QLPG D) PLOG
Answer: B) PLQG

What is the 6th number from the right in the sequence:
529673184

A6 B)7 (3 D1

Answer: B) 7

One statement is false. Identify:
A) All dogs bark.

B) Some cats meow.

C) Every fish can fly.

D) All birds have wings.
Answer: C) Every fish can fly

If P+ Q means P is the sister of Q, P — Q means P is the brother of Q, then R +S — T means?
A) Tis brother of R B) Ris sister of T C) Tis uncle of R D) Ris niece of T
Answer: D) Ris niece of T
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Which of the following has the same relationship as: Bat : Ball
A) Pen : Eraser B) Knife : Fork C) Racket : Shuttle
Answer: C) Racket : Shuttle

Select the related pair: Eye : Vision :: Ear : ?
A) Sound B) Hearing C) Listening D) Music
Answer: B) Hearing

What comes next: 1, 8, 27, 64, ?

A)100 B)121  C)125 D) 150
Answer: C) 125

Which number replaces the question mark?
(7x2)+(6%x3)="

A) 32 B) 36 C)34 D) 38
Answer: B) 36

If POST = 1234 and STOP = 4321, then OPTS =?
A)1432  B)1342  (C)1243  D)1324
Answer: B) 1342

Identify the missing figure in the sequence:
AOAOA?

A) A B) O C) D) None
Answer: B) O

D) Book : Bag




Hindi:

. '3 AT e ST Alch & dW@h i g7
a) 9FdE  b) HRAwg gRYTeE  C) TANHT TG d) GHAGAN T
Answer: b) $IRdwg gRedwg

. ‘e fRY Fga §?
a) eI &I  b) ey (@A’ ¢) ey d) Fr

Answer: b) Beagy ITATT

. TR’ HglHheT fohasd ganrt I[ad g2
a) ATYRRYT qied b) THURY [ 't ¢) SIU yde  d) Jerdie™
Answer: a) AR e

. ‘39T s F T Y FT 872

a) St AsG & A H 53 b) S Asq & &I & WU ) S oeg o UgA 93 d) FS
farereor

Answer: c) ST 2eg & Ygd 93

. A=fef@a & O si9-ar 'ggas T 87
a) ISH b) &AH  c) wYU  d) feeeh
Answer: c) IeT

. 'IITIaTY U’ T Y FAT &2
a) [Aee e b) TAWT Y arel A ¢) Th &f g d) HGERT

Answer: b) TATT 31 arer g

. '&fadar &g @ur & e 82
a) A  b) ACEF ) 9T d) AW
Answer: c) 9cd



8. 'HIST &I TaelA Ase FAT §72
a) & b)WY c)aea  d) S AL
Answer: c) cldd

11.'8Y' T qATIarT ersg T g2
a) g™ b)FT ) A d) RAg
Answer: c) 37eg

12.'319 &gl g & q@ ¥ &l gl arel’ Uidd & fhe YR T AceTr 872
a) @Al b) aiffs  ¢) Toeifase  d) afedea
Answer: a) ITAISIS

13."HSIAT 916 & ol@eh lel 872
a) RYAT WAS  b) YAHE  c) Heel HSRT  d) fasop warment
Answer: d) fasuy gerent

14.'T9a1 -8 &1 fohaehT 3casar & forr amar 3ier 872
a) 3. A b) gAY T dTad  ¢) HEAT e d) TIAYRILT AR
Answer: b) gRaer I STae

15.13. ‘3clid # &d diq’ 9re &7 &Y fawT Far g2
a) Widcd &I AgAT  b) AT c) AHAINSIH IFTAAN  d) 3MYAF dehelieh

Answer: a) TRTdcd I Hel

16.14. 'HTIA Ase HT T Aol F7 §72
a) @@l  b) Upfas  c) gAr]  d) HHE
Answer: b) Tehfde

17.15. 'Hehe’ T GATIGEY Ase FAT 87
a) GAENT  b) #feaArs  c) faula  d) @l
Answer: d) @l



18.'3T ol¥TdT §' &hiddr & forg H1aar =i gAa=™r ar=m g2
a) Y b) HII  c) #  d) gom
Answer: c) I

19.'57H T M & e H HET AT 74T §7?
a) FORAT  b) AT  ¢) & d) Tl
Answer: b) SHTGRT

20.'d9 Hidar # dra fraer ddie g7?
a) Fd  b) [  ¢) AR d) |@
Answer: d) @I

21.'eTeal T Aged' 916 H @ g T I &dr g2
a) Al WA W b) Aol & AT W ¢) I W
Answer: b) aroft &7 #FITEer @

22."S1AT AT eIl Hidal H B FAT T &l §7?
a) WA N ARGAT  b) BT § T=E@ ) HCHAFAT
Answer: b) &d & ddI1qd

23.'9cgR # &1 ufedr sidar &1 A& o1g F41 g7
a) Uhfd 9 b) Shael g c) =wem  d) 3mer
Answer: b) Sfiae gl

24.'7uY &1 3T gAY F2ar g2
a) @3  b) W  c)g@ed  d) @9
Answer: d) &«

25.'37deT H AR 916 & W@ hisd g7

a) FeUaT TGSl b) THA AT ¢) 3T, AhH RIS

Answer: d) YA Tg AE

d) gl FoAlel T

d) IALT g AE



26.7F 916 H R I Agdr aATS IS g7
a)did  b) AR §ar  ¢) dae & wRea d) 38
Answer: b) TcATAIR ar

27.'¥qdFdr T TEr faare 1 g2
a) Waadr  b) FFhIoTar  ¢) ARar  d) sregar
Answer: a) Tdadm

28. 731 [IAT & Hiddr &1 &I 3¢ T F4T 872
a) §ET 3ol T b) TATAROT W& ¢) T heremr  d) f§ar & demar o
Answer: b) T3TaIOT T&TOT

29.9¢" & AT g-
a) ®fddl  b) el  c) Usg  d) Ygar
Answer: c) s

30.'{ISTeT" &I dcdA Ase FAT g2
a) @l b) e ) ISl d) Sl
Answer: c¢) #Hisfel

31.fFg e & A sfag & gdar « T 8§72
a) oHA® H M b) HITAT  c) A9 d) HCATAI =t
Answer: c) a9

32.'"9geT" & faalteT a1 g7
a) gdl  b) @A c) HAT  d) ARIpeT
Answer: a) gg@r

33.9% 1 WEr 3 F;T §?
a)fdaRr  b)gear c¢) @ ST d) ey
Answer: ¢) SiI ¢@T ST



34.'9a1g' &1 qATIATdr FAT 872
a)sTel b)) ™ar ) o d) AR
Answer: a) STGT

35.'ga1 & 3fUeR’ e Fger 9 3maiRd 872
a) Y7 b) FOT ) IcAdTG  d) =
Answer: b) &0

36. 77" &1 37 Fam B2
a) dedaT  b) AR c) IE  d) gTOT
Answer: c) I

37.'JH% T XM FE @s &7 T 87
a) ST gHIE  b) YAHE  c) FhHA BUS
Answer: b) YHdE

38."BAT AT el Hida fhas fordl 872

a) g&Hid B o’rer  b) gAAEET 9a  ¢) AUy [ ey

Answer: a) gdeid S foRrar

39.'fasr T &1 faelid s &1 872
a) WIfd  b) e ¢) REER  d) gRade
Answer: b) fa=er

40.'AT HfAdT FT THATHR Dl §7?

a) gREY T s b) AT IJIE ) ARYMRROT [T

Answer: b) HIEsTellel Tddr

41,9’ T qATIarET F4AT g2
a) AYAFE  b) ATeX ) HRT d) gom
Answer: c) #IT

d) m«:—

d) Gy et



42.'396R" HI Tel Taelid Fa1 grem?
a) IWT  b) I  ¢) 3UEH  d) ATHPR
Answer: d) 39

43.7Fg Hfgar & AT Fr TG dTelh I Taldm &7
a) A b) BT A Tl ¢) WA &1 d) a9

Answer: a) #T

44291 T ATUFR’ Hglll H T 1 feafa Har g2
a) 9AE  b) AR ) W& d) @
Answer: d) 1@t

4599+ & & o 7 @ F frw gor & == dr g2
a) YA b) SAET  c) FEHTEEAT  d) alendr
Answer: a) sdY9e

46.'AT" Hfadr H &g T @ FHar 72
a) IIHR  b) SWIFHR  ¢) T d) HIf¥T
Answer: b) sTTaTcHS

47 'FISIAT TS fohd HoT Ha 9T 3MenRa 82
a) AT b) FIOT  c) WA d) AEH
Answer: b) &0

48.'7gt TIAT &' Hidcm 1 YHq@ a7 Far g7
a) AT U b) TAROT  ¢) aTF fasbrg ) fRuew
Answer: b) T3TaRoT

49, 'GcHIT T 37T FAT g7
a) = fAF  b) 3®ST @I ) W HIT  d) el F HT
Answer: d) Il & a7



50.'TaTSAT HI JITIATET FT 87
a) 7¢It b) ATH-THIS c) IAG  d) 9T
Answer: b) ATH-THS

51.'37dd & g Uld’ uTs H Si-ar faur g2
a) A& b) FEEN  c) FeARAT  d) IEAT gAT
Answer: a) @&y

52."UeTT T el 3T 4T 82
a) IE®HRT  b) ol ¢) A= d) fGaR
Answer: a) SITITxahdl

53.'A wfadr & AT T ofd FHdr g2
a) FR  b) FTOMAA ¢) TN g d) AR
Answer: b) SHeUTTHAT

54.'TdeaT &1 7T &1 §7
a) T b) IHT  ¢) @ d) HIGHA
Answer: d) $TgehdT

55.F9Y & Shadl & ¥ o9 fore wfaar & g2
a) AT b) A9 c) UAsR & & 9fdal  d) [ RAar §
Answer: c) 9dsk # & qfar

56.'37a8X" &1 faelld Fa1 81em?
a)dhe b) &ur ¢ e d) AW
Answer: d) 3da8Y

57.'3cAAIR g 916 F @ g el W SR &ar g7
a) IIeT  b) TSEIld  c) EEdSd  d) el
Answer: c¢) ¥ardelesl



58.hUT T T 2eg, AT §7?
a)gar  b) dT c) HAERT  d) TET
Answer: a) &ar

59.'d1q" iddr # fohd a1 1 quiel fohar Imam &2
a) 3myfAw  b) MfAERE ) dEE d) sfasy
Answer: b) tfagi@®

60.'R#" H Fer AT F1 872
a) =T b) el ) AT d) BT
Answer: c) &¥T

61.37ReT # HRA 9IS T JHE 36T FT 72
a) sfder@ d=T  b) A N 3yAfRRT  ¢) T
Answer: b) faae &r 3uafear

62. TcATASRAr &1 31 g—

d) 3o

a) g8 W A b) T W AN ¢) Hfdarg  d) T

Answer: b) T@T W R




